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OPTION-A
Paper : GGY-HG-4016/GGY-RC-4016
( Geography of India and N-E India)

1. Answer the following questions: (any seven)
1x7=7

o4 2PTAIRT O] At ¢ (Rizizar seit)

(a) Which soil is suitable for cotton
cultivation ?

AR (ST AR FINCE! T Tofgian 2
(b) What is the area coverage of India ?

©ITe3d] Nibifer = 2

(c) Give an example of monsoon dominated

country.
GRS SERIY AOR A QAN (7] i &4t |

(d) What is the population density of Assam
as per 2011 Census ?

205 5] (FAITATE V(O HHANI ST Y

IS2ICks

(e) Define agricultural modernization.
IR g &2

(/)  What is the full form of TISCO ?
TISCO =7« o1 [F2
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(@) Give an example of a hilly district of
Assam.

SN G AN T S T

(h) Which state of India has the lowest
population density ?

SIS (I TS TAHLYE TG G120

PFY?
() Name the highest cotton producing state
of India.
TIOIFS FHIZOF @R FAIZ Tesma 4l
FEPIF I &0 |
(i) Red soil is suitable for crops.
(Fill in the gap)
e FRIIE TN
(T} 312 939 F)
2. Write any four of the following questions in
very short : : 2x4=8
o] fFcPrar bifabr ] Te oS 5t foral ¢
(i) What are the physiographic divisions of
Assam ?
ST -AIFTeF B0l [ 52
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(i) Mention two unique characteristics of
N-E India.

TR SReIHS 75! I (AT BrE 31 |

(iii) What are the two major characteristics
of Indian agriculture ?

SIS FAT 7o7 Adi RFBER & e

(iv) Name two petrolcum producing regions
of India.

SRS (G TesAmA F11 757 S A1
fert |

(vV Mention two causes of industrial
backwardness of N-E India.

TEI-oA ST S CFao [AReiRIS 757 199
T |

(vi) What are the advantages of waterways ?
o oIz ] RUIER & 2

(vii) What are the major soil types of Assam ?
TP A WG BRI 5 62

(viii) Write a short note on Karbi Anglong
plateau.

e NerghR [REW b1 53 @it fordl |
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3. Write short notes on : (any three) 5x3=15
ool fort 2 (Ferear fefabt)
(a) Chhotanagpur plateau
(RTIN=T AeTg
(b) Islands of India
TSI Q119G
(c) Physiographic units of N-E India
TEI-93 OIS T-APOT WL
| (d) Characteristics of North Indian rivers
Tt SR AR W
(e) Religious composition of India
SECEEEERRE P
() Importance of coal in industry
(g) Locational significance of N-E India
TER-7[7 O SRZIHS 939
(h) Industrial regions of India

SIS T SBTHYZ
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4. Answer any three of the following questions:
10x3=30

Wﬁmﬁﬁﬁm%@m

() Define population growth. Discuss
population density and distribution
pattern of India in detail. 3+7=10

SRR I 2 SIeetds SRR Y WS
oges ey eIt wiEn 3911 |

(i) Describe the physiographic characteristics
of Assam.

PR g-AIPpfoT AR Raw 3 1t

(iii) Discuss the factors affecting density and
distribution of population in N-E India
with example.

TEI-5[3 ©IRGT TP TG % [Fo3¢1g do]
(TR FRFRIT RFm Trimez 39041 3941 |

(iv) What is monsoon ? Write a note on

influence of monsoon in India.
2+8=10

CHp3 Foiz ¥ ? SRS 2R e Ry 9ol
Cort Tl |
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(v) Define green revolution. Discuss the
effects of green revolution in Indian

economy. 3+7=10
cioe R T2 oo aRifee o Ry
o R v 3941 |

(vi) Divide India into physiographic units.
Describe any one of them in detail.
2+8=10

SIREIAT B-AFeT SIS [ew o1 | W
RiceIc Gbr et REca 3 31 |

(vii What are the important factors for
development of cotton textile industry ?
Write a note on the production and
distribution pattern on cotton textile
industry in India. 3+7=10

T3 I i TIfe] AR AT T IIRIIER
F ¢ ogodde AT TWINR TAMA SIS
fFogas Ry «Bt G fFtl

. (viii) Describe briefly about the production
and distribution of iron and steel
industry of India.

ST (FN-S R BEHIR B % o]
R 3t 3|
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OPTION-B
Paper : GGY-HG-4026
( Population and Settlement Geography)

1. Answer any seven of the following
questions : 1x7=7

R [T Arebr ek Tel ol 8

(a) When was the first complete population
census started in India ?

SRSILS YN T (T (Foq SI- I
ek

(b) What are the components for population
growth ?

TR T TR (&2
(c) Define census.

ENFHTER FLes o7l |

(d) Whatis the average density of population
in India according to Census 2011 ?

GTFHATE 205 > PR SIES G 51 THY
S2UCE:

(e) In which year the unique identity
number (UID) was introduced in India ?

(T TR OO0 2D FLOF66 71 (RTHZNG)
TSN T4 e 2
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ho introduced the demographic
transition theory and in which year ?

&I (S @f@m AT oo TR =
(P T_O ?
(g9 Which state has the highest density of

population according to census 2011 ?
BT 01 TR (TN ISTS T
g FAES 2

(h) What is a central place ?
SNAREIDASE:

(1) What is primate city ?

ARG 5=F [ 2

() What are the two fundamental concepts
according to Walter Christaller’s central

place theory
Wﬁmﬁaﬁa @?ﬁﬂwwwﬁ 75! G
gigen 2
2. Answer any four of the following questions
in brief : 2x4=8
O] [Fricat BIf<519 2T TR 5 a8
(a) Define demography.
(O AR gl v |
(b) Define urban fringe.
TSI ARG Figea fer |
(c) What is meant by populatlon ageing ?
SRR 3T I L S
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(d) What factors are responsible for the
dispersion of settlements ?
TSRO I (TR FIIS AR 2

(e) What do you mean by morphology of
settlements ?

o] Forog S fF2

(f/’  What causes population ageing ?
GAALYIY IT7 [ AR =W 2

(g9 How is the decadal growth rate of
population measured ?

GRS 7 251t Ik TR (FemE R
=2

(h) Cite two problems of population data.
SR OUR 707 TP SEd 4 |

3. Answer any three of the following questions:
5x3=15

O [Arreat fofab) o] Tes ot ¢

(a) Write a short note on the scope of
population geography.
G SLAIE {9191 8 9ITS 9Bt 5 (B foralt |

(b) Discuss briefly the scope of settlement

geography.
IS BLAER 2] 53F HICEAD 31 |
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(c) Define migration. Discuss briefly the
push and pull factors of migration.

oo el o1l | ogem] REdet w=ise Wi
IR HCF HCE0A1 41 |

(d) Discuss the stages of demographic
transition theory with suitable diagram.

THATE TR G (SR (Gigva [aike
A IGISAN GRS

(e) Write a short note on Census of India
2011. Mention the demerits of census
data.

CIOY @I 055 T 82T GBI 53 (Ol
o7l | ceNfoEe] SR (RIS B 11|

() Discuss the theory of internal structure
of towns by Burgess.

ez 7Rl FTITRR Sl shLfFT ©g
HICEAIo 1 |

4. Define population geography. Discuss the
- trend of world population growth since 1900
AD. 2+8=10

A SAlleTe AEE )l svoo A A g
TN Y@ 49T RI@ et 340
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Or /<<

Discuss briefly the population density regions
in the world with suitable examples or

diagrams. 10
TogE Tuizgd I THIX Cee oA SRR TN
G YLD S 4 |

5. Define settlement hierarchy. Discuss the
hierarchical process of depicting urban

settlements with apprcpriate examples.
4+6=10

FAfeF (ANR[TIR 7A@ 0 | TS Triggeld e
FIRIA FMOEIT TYSIR (HFa dfFmR [T
Ao <59 |

Or /924!
Discuss the characteristics and types of rural
settlements with suitable diagrams. 10

TTE THIT 0O 2T IR (I SIS 2P STl
9| |
6. Discuss the assumptions given by Malthus

in his theory of population growth. Examine
the merits and demerits of his theory.

4+6=10
TR (O TR 37 o SIS
9| (96 OGS BB I (M[EE Sl
Or /94t
Discuss the nature and sources of population
data. 10

TARANT R (S T T T=ITE S5 311 |
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